
4 Temmuz 2020 Cumartesi Yarış Sonuçları Ankara Hipdromu (9. Yarış Günü)

7. Koşu  Saat:16.00 Maiden/DHÖW/Dişi 57 kg, 1000 Çim

İkramiye 1.) 55.000 t 2.) 22.000 t 3.) 11.000 t 4.) 5.500 t
Yetiştirici Primi 1.) 15.813 t 2.) 6.325 t 3.) 3.163 t 4.) 1.581 t

Forma S At İsmi Yaş Orijin(Baba - Anne) Sıklet Jokey Sahip Antrenörü Derece Gny AGF St Fark G. Çık. HP

1 AKAN PINAR(2) 3y k d TURBO - ALTUN PINAR 57 H.ÇİZİK ERD. DÜZARAT Ü.ARSLAN 1.05.49 2,40 32.68(1) 5 Yarım Boy

2 GÜRLER KIZI(7) 3y a d UÇANBEY - GÜLEYCAN 57 V.DEMİR AHM. ÇELİK V.ÖNDER 1.05.57 20,00 3.42(8) 2 Yarım Boy

3 DEĞİRMENALTILI(5) 3y a d AYABAKAN - ÇOKGÜZEL 57 B.KILINÇ ALP. CİĞER A.CİĞER 1.05.69 33,45 3.49(7) 8 Boyun

4 ALADİNİ(3) 3y a d BERKSOY - AĞCANGÜLÜ 57 S.ERKUŞ KEM. ALTIN BAH.GÖK 1.05.73 5,90 10.27(3) 1 3,5 Boy

5 KOZANCAN(9) 3y k d GÜNTAY - KOZAN ATEŞİ 54 H.ÇANAKÇI MUS. ÇİZİK S.V.KAYA 1.06.27 37,20 2.28(9) 6

6 AK İREM(1) 3y k d UÇANOĞLU - BİRGİCAN 57 Ö.YILDIRIM TAY. TUTUMLU B.TURGUL 1.06.45 2,80 20.34(2) 7 3 Boy

7 SANAFİR(10) 3y k d KARA YAĞIZ - ALHAS 57 G.KOCAKAYA DUY. FATURA B.KOCAKAYA 1.06.96 8,40 9.79(4) 3

8 SÖĞÜTLÜ(11) 3y k d TAMERİNOĞLU - LALEZAR 57 A.KAÇMAZ İSM. TEKİNALP İS.TEKİNALP 1.07.21 14,45 7.16(5) 9

9 ÇÖMLEKÇİ KIZI(4) 3y k d BERKSOY - TUMBULALTIN 57 M.BAYIR LET. DOĞAN M.Y.KILINÇ 1.07.43 44,15 2.03(10) 4

10 FLASH GIRL(6) 3y a d İZHAN - LEMANKIZI 57 M.AKYAVUZ F. SED. DAĞYUDAN M.KORKMAZ 1.08.27 17,10 5.16(6) 10

11 ŞAH HANIM(12) 3y a d ÖZGÜNHAN - ŞAHNİGAR 57 M.BAYDAN VED. TEKİNALP A.KAPLAN 1.09.04 88,95 1.67(12) 11

12 KIRMIZI ŞİMŞEK(8) 3y a d BERKSOY - BİYÇEHAN 57 U.TEMUR O. BİN. YURTSEVER E.MUTLU 1.10.87 82,60 1.72(11) 12

GANYAN(2) :2,40 t, 1. 6'LI GANYAN(2/6/1/2/8/2) :101,31 t, 1. 5'Lİ GANYAN(6/1/2/8/2) :32,45 t, 1. 4'LÜ GANYAN(1/2/8/2) :6,51 t, 1. 3'LÜ GANYAN(2/8/2) :4,41 t, İKİLİ(2/7) :22,75 t, SIRALI
İKİLİ(2/7) :42,15 t, ÜÇLÜ BAHİS(2/7/5) :69,57 t, PLASE(2) :1,10 t, PLASE(7) :1,90 t, PLASE İKİLİ(2/5) :7,70 t, PLASE İKİLİ(2/7) :16,80 t, PLASE İKİLİ(5/7) :61,50 t, SIRALI 5 Lİ
BAHİS(2/7/5/3/9) :3.582,75 t, 6. ÇİFTE(8/2) :5,70 t


